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Part 1
Listening 

 (
For items 
1–10, 
listen to a radio talk for young people about astrology, and decide
 
whether the statements 
1–10 
are TRUE according to the text you hear, or FALSE, or
 
the information on the statement is NOT STATED in the text. 
You will hear the text
 
twice
.
)
1. The movement of stars determines people’s lives.
2. Most people have no faith in astrology.
3. Should they decide on a serious issue, a small percentage of people are likely to turn  to the stars.
4. Simon agrees with psychologists on the influence of a person’s time of birth on their  personality.
5. The time of birth remains a defining factor throughout the whole life.
6. A statistical comparison between the person’s choice of career and their star sign is the most effective tool in predicting future events in their life.
7. More than 15% of entertainers were born in the second half of summer.
8. Spring is a favourable period for travelling and finances.
9. People in financial professions are connected with one particular star sign.
10. Technological advances have reduced the influence of nature on us.
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)
Part 2 
Reading

 (
Read
 
the
 
passage
 
below
 
and
 
answer
 
questions
 
1–10
.
)

The Green House Effect

(A) Saving the world begins at home. The energy we use to power our daily domestic lives and drive our cars produces almost half of our output of carbon dioxide, the gas which is the main contributor to the problem of global warming. The way in which we use energy is not only polluting but also incredibly wasteful. But there is nothing to stop us greatly reducing our energy consumption and creating a more comfortable world.
(B) Redesigning the home to bring our lifestyles more into balance with what the environment can cope with need not involve expensive or painful changes. Most of the technology to make the changes is already available. When the changes have been made, the home of the future will be a better place to live in. So what will it be like?
(C) We will have switched from ‘fossil fuels’ – coal, gas and oil – to sources of power which are non-polluting such as windmills or using the power of tides. Houses will be heavily insulated and heating systems made much more efficient. In addition, our future homes will use low-energy light bulbs.
(D) With water costs rising enormously, most houses will trap rainwater and store it in a large, well-insulated tank in the cellar. This tank also serves to save energy: heat is recycled from other parts of the house to maintain a high water temperature for washing and central heating.
(E) Recycling waste will be much more common than it is today. Tins, bottles, plastic, and paper will be put into vents in the wall from where they will fall into divided bins for collection. All vegetable matter will go straight on to a compost heap in the garden.
(F) The home will be a cleaner place. Air conditioning will do much more than keep you cool. It will improve air quality by filtering out contaminating dust mites and by controlling moisture and condensation.
(G) Outside the home as well, life will have become more pleasant. The car will no longer be the threat to our health that it is today: it will run on hydrogen or a mixture of battery and safer petrol. It won’t be allowed to clog up our cities: people will use the tram, a clean, fast, and quiet form of city transport which many cities are already reintroducing.
(H) This picture of the future is one which should appeal to all of us. It’s one that our grandchildren could take for granted, not believing that people lived any other way, that people went around polluting, destroying, wasting resources, and apparently not caring. But if we want our grandchildren to have a world which is cleaner and safer, we have to start to change our ways. The picture of the future can become a reality but only if we do something about it. And we 
should do something about it soon. 

 (
Questions
 
1–4.
Below
 
you
 
will
 
find
 
four
 
headings.
 
Each
 
heading
 
describes
 
the
 
contents
 
of
 
one
 
of
 
the
 
paragraphs
 
in
 
the
 
passage.
 
However,
 
since
 
there
 
are
 
eight
 
paragraphs
 
and
 
only
 
four
 
headings,
 
four
 
of 
the
 
paragraphs
 
will
 
not 
fit any
 
of 
the
 
headings
 
below.
You
 
need
 
to
 
choose
 
which
 
heading
 
best
 
describes
 
which
 
paragraph.
 
Write
 
the
 
letter
 
of a
 
paragraph
 
next
 
to
 
the
 
number
 
of
 
the
 
heading
 
1–4
 
on
 
the
 
separate
 
answer
 
sheet
.
)
1. Homes of the future will be more hygienic.
2. We ought to change the way we live.
3. The way we live now damages the world.
4. Future energy needs will be lower and not cause pollution.

 (
Questions
 
5–10.
Choose
 
option
 
A,
 
B,
 
C
 
or
 
D
 
which
 
best
 
answers
 
the
 
question.
 
Circle
 
the
 
correct
 
letter
 
in
 
boxes
 
5–10
 
on
 
your
 
answer
 
sheet.
)
5. The author’s intention in writing the above article was to show…
A. the sort of future we can expect for our grandchildren.
B. why we should reduce pollution and use energy more efficiently.
C. why we have taken steps to reduce pollution and improve our use of energy.
D. how changes in house design will encourage people to use less polluting energy.
6. Which of the following statements is the author most likely to agree with?
A. In the future, houses will be much healthier.
B. In the future, people will produce much less waste.
C. In the future, very few people will own their own car.
D. In the future, the problem of global warming will be better understood.
7. In the passage the author explains…
A. why using less energy has become more popular.
B. why sources of energy are going to become more scarce.
C. how savings could be made in the way energy is used.
D. how, unless we use less energy, energy costs will rise.
8. In the passage the author DOES NOT explain…
A. how our cities could be made cleaner.
B. why our use of energy needs to change.
C. why water costs will rise in the future.
D. how the way we live produces global warming.
9. According to the author, one of the differences between our way of life and that of people in the future might be that…
A. cars will be much cheaper to maintain.
B. fewer people will travel in the cities.
C. cars will have far more safety features.
D. cars will be used less than they are today.
10. The passage describes the homes of the future. Such homes, according to the author, might NOT be built if we…
A. could not afford the necessary technology.
B. could not find alternative sources of energy.
C. were unable to reduce the amount of waste we produce.
D. failed to agree to make necessary changes in our lives.
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Part 3
Use of English
Task 1. Match to make sentences. [HISTORY]

	1
	A people without the knowledge of their past history, origin and culture is
	A
	for I intend to write it.

	2
	All the ills of mankind, all the tragic misfortunes that fill the history books, all the political blunders, all the failures of  the great leaders
	B
	but in rising every time we fall.

	3
	History repeats itself,
	C
	like a tree without roots.

	4
	History will be kind to me
	D
	cultivate peace and harmony with all.

	5
	I like the dreams of the future
	E
	better than the history of the past.

	6
	If  you are neutral in situations  of injustice,
	F
	we are made by history.

	7
	Observe good faith and justice toward all nations,
	G
	lies will pass into history.

	8
	Our greatest glory is not in never falling,
	H
	first as tragedy, second as farce.

	9
	The very concept of objective truth is fading out of the world,
	I
	you have chosen the side of the oppressor.

	10
	We are not makers of history,
	J
	have arisen merely from a lack of skill at dancing.



Task 2. Find and circle in the grid 10 British cities and towns. They read vertically, horizontally, diagonally, and occasionally even overlapping and reversed.

	I
	N
	B
	I
	R
	M
	I
	N
	G
	H
	A
	M
	K
	L
	V

	M
	G
	T
	J
	K
	F
	A
	P
	C
	S
	L
	P
	F
	L
	S

	R
	H
	A
	L
	I
	V
	E
	R
	P
	O
	O
	L
	Y
	A
	F

	I
	A
	Q
	W
	X
	S
	S
	W
	F
	A
	Y
	S
	D
	N
	A

	B
	M
	Z
	C
	D
	Y
	A
	A
	S
	I
	O
	B
	C
	C
	G

	S
	X
	A
	S
	D
	X
	O
	X
	A
	A
	F
	A
	C
	A
	H

	C
	I
	S
	A
	C
	B
	V
	R
	R
	S
	L
	D
	S
	S
	G

	X
	T
	D
	S
	B
	H
	B
	S
	K
	F
	E
	G
	J
	T
	F

	G
	T
	S
	X
	F
	A
	T
	A
	F
	F
	I
	H
	A
	E
	E

	Q
	G
	T
	T
	F
	L
	O
	V
	T
	S
	C
	I
	E
	R
	R

	A
	S
	I
	R
	I
	I
	N
	G
	E
	H
	E
	O
	S
	S
	D

	A
	L
	I
	D
	S
	R
	G
	D
	L
	Q
	S
	F
	N
	W
	D

	B
	I
	Y
	X
	C
	T
	L
	V
	Y
	A
	T
	D
	A
	S
	A

	E
	Y
	G
	C
	T
	O
	I
	I
	D
	G
	E
	F
	W
	A
	N

	A
	B
	E
	R
	D
	E
	E
	N
	G
	D
	R
	R
	S
	E
	S



Task 3. Complete the sentences by changing the form of the word in capitals.
The  British  Empire  grew  in  1_______ (PURSUE) of  resources  and  markets  for  its  exports. At  its 2_______  (HIGH) of  Empire, Britain  ruled  about  a  quarter  of  the  world, including  Ceylon,  India,  Australia,  New Zealand,  the  Sudan,  and  South  Africa.  The British saw themselves as the leaders  of  the world, assuming the “white man’s burden” and spreading  civilization  and  religion  to  the  so-called  dark  places  on  earth.  They overlooked the  3_______  (COMMERCE) exploitation, racism,  and  moral  4_______  (DEGRADE) that  they  also  spread.  
During  this  economic and  social  5_______  (TRANSFORM), England’s  aristocracy  and  the  rising  middle class,  comprising  industrialists,  businessmen, trade leaders,  and  workers,  vied  for  political power,  with  the  middle  class  incrementally 6_______ (TAKE) the aristocracy. The Reform Bill  of  1832  began  the  process  of  extending the  franchise,  ultimately  reaching  the  worker. During this struggle, England shifted from an agrarian to an 7_______ (INDUSTRY) society. Industrialization  wrought  a  grim  physical change on the landscape and in the 8_______ (GROW) of  urban  slums  around  factories. Farmers migrated from the country to the city. The population in London doubled in a matter of a  few  years.  A  dramatic  increase  in  the population  overall  led  to  an  urban 9_______ (CONCENTRATE), in London and in northern cities like Liverpool, Leeds, and Manchester. 
The  laboring  masses  of  the  poor,  though,  had little power. Men, women, and children lived in abysmal  conditions,  working  six  days  a  week for  up  to  sixteen  hours  a  day  in  factories  and mines at a time when there were no minimum wage  or  age  limits.  These conditions  were 10_______ (PART) improved through various acts,  including  the  Factory  Act  of  1833  that improved conditions in textile factories.
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Part 3
Writing

Write a short description of your favourite place in Moscow and recommend it to foreign tourists.
Write the name of the place at the beginning on a separate line (words are not counted in this line). The place should be real, not imaginary.

Remember to mention in your description:
	where in Moscow the place is located;
	why you like the place;
	why you recommend it to foreign tourists.

Write 200–250 words.

Transfer your answers to the answer sheet!



